Info...

Test 3 review videos are posted!

Examine the limits below.
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These are examples of
0/0 indeterminant forms.
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Why is 0/0 called an indeterminant form?
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Bottom Line: "0/0" can lead to anything.

What is an («/=) indeterminant form?
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Why is («/«) called an indeterminant form?

Answer: It can be almost anything!

L'Hospital's Rule...
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Two Cases: A
1. (0/0)
2. (o)

These are both “indeterminant forms.”

L =
po i 2 2
- lim 2 lim —— lim =
> s Qx4+ oyt ] xe x4 ] o
\l A\
3 o2
e
—_
L'Hospital's Rule: (0/0) Case.
Theorem  Suppose that /and ¢ are
differantiable functions with ¢'(x) = 0, and
suppose
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‘Why does this work?

See Yo video.
Since /(x) —» 0 and g(x) - 0 as x — ¢, we can assume

S(e)=g(c)=0

Pick any value b <¢. and define /ix) = f(x}——g{[—:}g(.\‘).

Note: h(b)=h(c)=0




L'Hospital's Rule: («=/«) Case.

Theorem  Suppose that/ and ¢ are
differentiable functions with ¢'(x) = 0. and
suppose
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...provided we have an oco/co indeterminant form!!!
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What is wrong with the following argument?
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